Year & Spring 1 Maths Activity Mat 2

Section 1 Section 2 Section 3 Scction &4
Complete the calculation. A newsagent sells 272 Calculate Multiply 3, 6 and 10.
papers in the morning and
155 papers in the afternoon. — Write a number statement.
5 8 3 How many papers were sold 69 + 10 =
_ 2 5 6 altogether? -
4+ 10 =
‘ 52 +10 =
Section 5 Section 6 Section 7 Section 8
Circle the larger number There are 100 people at a List the six factors of 18. Calculate:
of each pair of decimals. party. Half are adults. There
are 24 girls. How many boys 9x g =
14.1 1.4 are there at the party? —
27 + 9 =
5.2 25.0 —
42 + 6 =
3.6 6.0 ‘ Lx8=




